=LPDB

*UXSD 5R]NiDG $"0 0 7\J
7\6] 7\6] 7\6] 7\6] 7\6]
JQIRUPDFID Z =DVDG\ XVILRIX 3XELF]QH SIDZR 3XELF]QH SIDZR =DVDG\ XVILRIX
DGPLQLVIVDFIL SXELFTQHI SRINFTQHJR NRONXUHQFIL Z GU NRQNXUHQFIL GZ G SRINFTQHJR

= Z G 3DUDGRZVNL STHFT\SRVSRUIHI 3RIVNLHI = RUNRZIDN $QQD =% = RIINRZIDN $QQD =% 5THFT\SRVSRUIHI 3RIVNLHI
=z ODUXV] =% Z GUKDE %RIXVIDZ $"00 : $"00 & iz PJU = UIDIN
a] $"00 = 3U\ZRWD =% ODJGDIHQD =%
= $°00 : 7\6] 7\6] $"00 &
Q 7\6] :
T BUTHVIESVIZD L =DVDG\ XVIRIX
o =DU]4G]DQIH JDVREDPL 7] Z\NURF]HQLD VNDUERZH G SRUNFJQHIR
x IXG]N.PL Z DGPLQLVIUDFIL =DU]3G]DQIH JDVREDPL U = UyEH $GDP =% STHFT\SRVSRUIHI 3RIVNLHI
SXEIF]QHI Z GU +DPSH) IXG]N.PL Z DGPLQLVIUDFIL $"00 & iz PJU zUIDIN
_DIDUI\QD =% SXEIFIQHI (Z GU ODJGDIHQD =%
$"00 = -+DPSH) . DIDUJ\QD =% $"00 &
$"00 & ‘
7N 7N 7\6]
(NRQRPLF]OH
= ,QIRUPDFID Z =DVDG\ XVILRIX 1DJIDGQLHAID NRQVXPSFIL
I DGPLQIVIUDFIL SXELF]QHI SRUNF]QHIR SURI GUKDE 2VIDVIHZIF]
z Z Gl 3DUDGRZVN. 5THFT\SRVSRIUIHI 3RIVNLHI = DIHQIN =DICFLD RQ QH
N onixv]  $°0 0 Z GUKDE %RIXVIDZ $"00 &
: 3\ZRD $"0O0
RQ (LQH -
‘ ‘ RQ MOH
7N 7N 7N 7N
A 3XELF]QH SIDZR 3XELF]QH SIDZR =DU]aG]DQIH JDVREDPL =DU]3G]DQIH JDVREDPL
) NRQNXUHQFIL Z GU NRQNXUHQFIL UZ GU IXGINLPL Z DGPLQIVIUDFIL IXGINLPL Z DGPLQIVIUDFIL
X = RINRZIDN $QQD = RINRZIDN $QQD SXEIFJQHI Z Gl +DPSH SXEIFJQHI (Z GU
2 $"00 = $"00 = _DIDU\QD  $"0 O +DPSH) . DIDUJ\QD
INHGJIHE  JDICFID NGJHE  ]DICFID = _ $700 &
PLOXI RQ (QH PLOXI RQ fQH ING]HE  DICFID ING]HE  DICFID
| ‘ PLOXI RQ fQH PLOXI RQ fQH
7N 7N 7N
z 3UJHVICSWIZD L %RNICI\NRZ\  $"00 =
I (NRQRPIF]QH Z\NURF]HQLD VNDUERZH G
= 1DJIDGQIHOLD NRQUXPSFI. UzUWEH$GDP  $70
N SIRI GUKDE 2VIDVIHZIF] o -
T zDHQN  $70 0O INGJHE  JDICFID
- PLOXI RQ (QH
RQ MQH
7N
=z =DVDG\ XVIIRIX
T SRUNFJQHIR
S 5THFT\SRVSRUIHI SRIVNLHI
7 iz PJU zUIDIN
ODJGDHQD ~ $~0 O
RQ MQH
o
©




